FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

BATTERY PACK REMOVAL BATTERY REMOVAL

Battery cover tah  Dattery pack

Battery Pack

Battery cover tab
CEhey LAt Battery cover assembly L
1. Tum the computer upside down as shown.
2. Slide the battery latchin the diredion of the arrowto 1. Push two tabs on battery cover ass'y. outwards and
releaseit. remove the battery pack in the diredion ofthe arrow

3. Pullthe battery pack slightly forward and lit
ol the battery pack.

OPTIONAL PCMCIA CARD REMOWVAL KEYBOARD REMOVAL

. L TERT T

Eject button PC card ’ i ;
Kevboard Kevhoard brace
1. Dpenthe PC card slot cover.
2. Slide the PC card lock to the unlod: position.
3. Pull outthe eject button next to the PC card you 1. 0 pen the display panel.
wart to remove and press the button to pop the 2.Litt outthe Keyboard brace.

PC card out slightly.
4. Gragp the PC card and remove it.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

KEYBOARD REMOVAL EXPANSION MEMORY REMOVAL
Kevhoard

Insulator sheest

Kevhoard

cable
= Keyboard
. connector
i
Latches
1. Litt up the insulator sheet covering the expansion
1. Rotate the keyboard out and lay it face down on the memony. Make sure the computar is in boot mode.
palm rest. Be careful not to appy pressure to the 2. Gertly press out the latches and the expansion
keyboard cable. memary will pop up.
2. Disconned the keyboard cable from P on the 3. Grasp the expansion memory and pull it out.

gydem board and remove the keylyoard.

HDD REMOVAL

LETELE DNE L o

HOD bracket HOD

M2.5x25 silver screw HOD slot cover 1. Grasp the HDD bracket and pull it forvard to
dizconned the HDD, then grasp the badk end ofthe
1. Turn the computer upside down. bracket and lift it out.
2. Remove one M2.5x25 silver screw. 2. Remove four flat-head screws fom the HDD
3. Lit offthe HDD slot cowver. bracket and lit out the HDD.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite™

4000/4010/4020 Series

Speakerinverter

TOP COVER REMOVAL Speak er LcD

cable cable cable

M2 5x25
silver
SCTEWE

silver strews

1. Tum the computer upside down and remove two
M2.5x6 silver screws from the battery sot, one
M2.5x6 silver screw from the HDD slot, five NE2.Sx25
silver screws from the bottom cover and two M2.5x6
silver screws from the badk ofthe computer.

2. Tum the computer right side up and open the display.

Top cover

* Display
assambly

-
#  Mlatch
oy

1. Remove four M2.5x6 brass screws s=ouring the
1op cower.

2. Release eight latches secuing the top cowver ancd
display assembly: three latches on the left side,
three latches on the front and two latches on the
right side.

3. Litt offthe top cower and display assemibly in the
direction ofthe amrow

Insulator

1. Litt up the insulator covering four cables and
dizconned them: left speaker cable from P21, right
speaker cable from PJ22, FL cable from PJ4 and
LCD cable from PJ3(DSTH) or PJ23 (TFTIimodels.

HOTE: Keep tape covering Speakerinventer cables for
aszembly.

INSULATOR REMOVAL

Insulator

RTC & backup battery pad

1. Lift out the insulator over the positioning pin.
HOTE: Be =ure to reingall the insulator when assambling
the unit. Ifthe insulator is not installed the unit
will mot pover OR.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION

Satellite™

4000/4010/4020 Series

RTC and BACKUP BATTERY REMOVAL

LED BOARD and MEMBRANE SWITCH REMOVAL

Backup battery RTC battery

1. Remove the tape sscuring a pad overthe ETC and
backup batteries.

2. Dizconned the RTC battery cable from PJT on the
sysem board.

3. Disconned the backup battery from PJ802 on the
sysem board.

4. Lit outthe RTC and backup battery.

FDD REMOVAL

FoD
flex cable

M2 5«6 brass screw

1. Disconned the FDD flexible cable from PJ14 on the
sydem board.

2. Remove one M2.5x6 brass screw s=curing the FDD
and remove the FOD.

3. Remove four flat-head saews seowring the FDD to the
FOD case and ssparate the FDD from its case.

4. Disconned the FDD flexilde cable from the FOD .

silver screw baared

Membrans
=witch

1. Digconnect the LED board flexible cable from the
LED board.

2. Remove one N2.5x6 silver screw.

3. Lit upthe lett side ofthe LED boardto clear a latch
on the right side to remove the board.

4. Digconnect the membrane switch cable from PJ9 on
the syaem board.

o. Belease one latch at the front edge of the membrane
switch and lit out the membrane switch.

HOTE: The FDD, flexdble cable and FDD bracket are all

separate pants. Please DO HNOT zend the
defedive FDD with the flexible cable and bracket
to TOSHIBA. The four screws, flexble cable and
the FDD bracket should be kept to assemble the
FDD vou receive from TOSHIBA for the
customer's unit.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

CD-ROM DRIVE REMOVAL

HOTE: The CD-ROM, flexble cable and bradket are all
zeparate parts. Please DO NOT zend the
defective CDROM, flexble cable and brack et
to TOSHIBA. The two saewe, flexible cable and
the CD-ROM bracket should be kept to

aszemble the CDROM you receive from
TOSHIBA for the cugtomer's unit.

f CD-ROM CAUTIOHN: ‘When you lock P J9958 on the CO-ROM

dive connedor and PJ16 on the system koard,
push bath sides ofthe connedor lever at the
zame time. |f yvou push the center ofthe
lever, the cable can become disconneded
easily orthe connector broken.

FJ1G

CDROM M2x6 brass soews
flexible cable
1. Disconnect the CD-ROM flexible cable from PJ16 255

on the system board. brass screws

2. Remove two M2x6 brass screws sscuing the
CD-ROM drive.

3. Slide out the CO-ROM drive in the drection ofthe
AT oW,

SYSTEM BOARD REMOVAL

ik
System M2 .5xd Bracs
board brass scorew

4. Disconnect the following five cables RTC battery cable
from P4, backup battery cable from PJS02,
LED board flexible cable from P15, memiwane switch
cable from PMT and CD-ROM flexible cable from

1. o will first remove the PC card slot cover. Pull ot

A ; PJ12 on the system board.
Lhnenﬁ:hc;nrgtﬁeﬁt SRR WS TR BTG, o, Remove two M2.5x4d brass screws. One s=cuing the
xRl e ) system board diredly and the other secuing a small
= Ins.;ert WepeTs el m.een.thfa Ll d_ﬁﬂt brace on the comer ofthe system board. Lift out the
cover and the bottom cover ofthe computerto release birsiee with th
i liches: 3. Remove two M2.5x6 br ing th
3. Pull the top ofthe PC card slot cover forward to ikl R N R T SRR

system board.

3. Lit up the lett side ofthe sy=sterm board about S om
and pull it out from the lett side to awoid damaging the
PZ card ejed buttons.

remove it. Two interral latches prevent the card from
being pulled graight out, =0 rotate the top.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

COOLING FAN REMOVAL 'REMOVING THE SPEAKERS

ME.S::E Left and Right

M2.5x5 brass srews brass screws Speaker brace
1. Remove Tape covering PJS andthe fan cable. 1. Remove one M2.5x6 brass screw secuning each
2. Disconnect the fan cable from P J8 on the system board. speaker brace.
3. Remove two M2.5x6 brass screws s=curing the 2. Remove each brace and litt out the speakers.

cooling fan.

4. Lit out the cooling fan from the sy=stemboand.

HOTE: The cooling fan and system board are ssparate parts.
Please DO MNOT send the fanto TOSHIB A with
defective system boards. The fan and two screws
should be kept to be attached to the sygem board
vou receive from TOSHIBA for the customers unit.

CPU BOARD REMOVAL

Processor module
—= M2x14 brass
SOTEWE

h '-_,_ -1 1"--' -."
M 2xd brass screws

1. Remove three N2x14 brass screws and two M2x4 brass 3.Grasp the processor module evenly on both sides
screws securing the processor module to the sysem and pull the module carefully to disconned it from
board, inthe following order, 5--4--3-2-1 from PJ1 on the systemn board.

2. Litt out the heat sink.

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

=

LD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

OESPLIRY MR REMONRL

Digplay
mask
Mask
caal Mame
=3l

1.Remove mask seal and name seal at the hinges
1o expose two M2.5x6 brass screws secuing the
display mashk.

2.FRemove the two M2.5x6 brass screws that were
covered by the ssals.

3. A total of 18 smaps ssoure the display mask .
Carefully insert vour fingers between the mask and
the LCD panel and pry open the snaps. Start with six
snaps adoss the top ofthe digplay mask.

Snap
locations

4.. Cortinue unsnapping the mask along the sides
(4 snaps on each sicke), at the battom (2 snaps)
and at the hinges (2 snaps).

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4000/4010/4020 Series

FL INVERTER and SCREEN REMOVAL

M2 5xT
silver screws

- HW
cable

= W2 5x6
brass screw

FL
- inverter
boare

- M2 .56
brass screw

Cortrast boar

™ M2 5x6
brass screw

"-\-\.\_\__.
M2 5xT
silver screws

1. Remove two M2.5x6 brass screws securing the FL
inverter board.

2. Carefully rotate the FL inwerter board out; from right to
left then disconnect the FL inverter cable from CHA
and the HY cable from CH2.

3. Eemove one M2.5x4 brass screw s=cuing the
contrast board. OM C0S MODELS DMLY

4. Digconned the contrast board cable from PJ1 on
the cortragt board and lit out the board.

5. Remove four M2.5xT silver screws secuning the LCD
mdule to the LCD cover.

G. Carefully rotate the LCD module from right to lett

ofthe LCD cower.

. Digconned the LCD cable from the LECD maodule

and remove the LTD from the computer.

=

TOSHIBA

Tough Enough for Today's World.

Downloaded from www.Manualslib.com manuals search engine


http://www.manualslib.com/

